8.6 HW Pg. 291-293 #1-6, 8

1 a. Graph the following system of inequalities:
P &%) 1 Z-2x+12 V\

® y=2x—4 / N
’ 2x+3y<12 54’—3—)(*4
b. Is (4, -3) a part of the solution to the system of inequalities?
Use your graph to justify your answer.

A

c. Is (7, 5) a part of the solution to the system of inequalities? Use
your graph to justify your answet.

your graph to justify your answer.

e. Is the origin a part of the solution to the system of inequalities?
Use your graph to justify your answer.
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d. Is (3, 2) a part of the solution to the system of inequalities? Use .(
/
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/

b) ﬂes it lies inthe ghaded region of -
both inequalihes ooty

) Np - itonly lies nthe Shaded region ot y=2,. .+ ‘

d) No - it lies onthe intersechion oF-rlne, Z lines; however Zx t3y<12 is &
\ees than relatimghip, €0 the point s not included in the Soluhion

&) No-it 0wy lies inthe shaded vegion of 2x+3y212.

2 a. Graph the following system of inequalities: }&
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x—3y=18
y=3x+10

b. At what point do the boundary lines intersect? Is this point a
part of the solution to the system of inequalities? Explain.

¢. Describe the region of the graph that is the solution set for the
system of inequalities. < i o

b) The boundavy lines interseck at ("lp."g ). :
This point 1s ‘a part of the solufon Since L
boYh QGuations are " or = o " —meani EPZSANEE A VA
“the coovdinates bon the anAM.a lines ﬂj{; S:;(\ G BSL

arvinduded in Hhe srfubm.

¢ Solution set v vemon fovnd belw both lines and the sechon
) The Slufion Is e e ﬁ“o(l eath hne That bgvders the rfjion.

3. Write a system of inequalities that describes the graph below.

&
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X=1
21\
> tgé “Xt+lo ov )H'\g =10
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4. Which region of the graph represents the solution set for the
system of inequalities y = xand y = 27 D

¥ =
8 =

4

5. A small company makes unfinished tables and chairs. Each table
uses 40 board feet of wood, and each|chair ses|20 board feef. It
takes 6 hours of labor to make a table andl of ] e
chair)There are 2,000 board feet of wood and EDD labor—hours}
available for the next week.
a. Let T represent the number of tables made in the next week L‘.OT.‘. 20¢C < 2,000
and C the number of chairs. Write inequalities that relate T 2z
and C to the total available amount of wood and to the total LT+ 3C = loo
ayailahle labor.
b. This situation can be further described by the inequalities T = 0 \lou CANNO {— ha ve A V\(ﬂaﬁvé ﬂ:
and C=0); Wiyt of tables and chaivs .
c. Draw a graph of the solution set for this situation.
d. Can the company produce 30 tables and 35 chairs in the next

week? Explain.
e. Can the company produce 50 tables and 10 chairs in the next
week? Explain.
40T +20C =2000
1%0 c
o 0 {i1co = (0\100)
v \ 60 o - (S0,0)
= 9 \
g 10 B LT +reC=boo
< % c 3
"\ o |19 — (0,19
So N
* Z,.\\ AN oo \0 — (100,0)
0L
; A d) Yes, the point (30,35) lies n The
w52 \\. dnad.ed “ﬂ' on ,{l lboth 1negualihes -
o 3o 70 90 llo 1% )
4 of Tables 2) No, the point (50,10) lies inthe

Shad ed on of— only one m(_q)ualihj-
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6. A principal has received a $1,200 grant to buy new printers for his
school. He has a choice between buying black-and-white printers
for $45 each and color printers for $120 each. He wants at least S
20 new printers. B+C =20
a. Let B represent the number of black-and-white printers and C 458 + 120C = £ {200

the number of color printers. Write a system of inequalities that B=0
models the situation. -
b. Draw a graph of the solution set. =20

c. What is the largest number of color printers that will satisfy
both requirements? Explain.

LT I3 B+c=20 Yo B+120C =1200
w7 % Pl B(C é C(L)
A o |20 ol
w p
é N PaaLiPal olo 26% |0
5 p
%'w \ i //////
2 =G < 45 (B+042045" — ~pp-45¢ = —Iov
* wtr\:\ | /// | “4eprnoc=(200 b “pBH20C =200
P S / —
TN A thelanmest b Toc = 3
* ///////’/ 4 e ¥ e=4

/’w +hat wut . 4 B=lo

2 e o 14 18 12 W Ewwm uabins 0
Hof Black & iz Printprs 4
8. A ballpark offers two packages for birthday party favors. Package
A includes 5 tickets for a ball-toss game and 6 pennants for the

home team. Package B includes 15 tickets for a ball-toss game and At B =
3 pennants for the home team. The ballpark management wants
to have at least 30 packages available. They also want to include at EP( t ‘66 > 200
least 300 tickets but no more than 180 pennants. LA+ 3B £\
a. Write a system of inequalities that models this situation. Let
a represent the number of A packages and b the number of B A=z0
packages. B>0

b. Graph the system of inequalities to determine how many of
each package can be assembled.

¢. Isit possible to assemble 10 of Package A and 40 of Package B?
Explain.

d. Is it possible to assemble 20 of Package A and 30 of Package B?
Explain.

P

Are=30 ‘?M—\qezaoo LA +38B =160

U 4
\\ o\ 30 0 10 o ‘ 60
Go \\ 30 > w\o 20 |0

FawAje B

10 {
20 ‘\ \' c) \'gl The Poiw\— (10,40) (s in the
\0 lﬁ%{\ ] Shaded Yl.%lon
] T dYNOA The pownt (30,%) lonotin
0 2w 4o s 60 0

the shaded rtq{w\
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